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Slack — Bring your team together with Slack, the collaboration hub for work.

Language -- select  _1

int main()

HTML,JS,CSS
Ruby

Perl

Pascal

R

Fortran

Haskell
Assembly(GCC)
Objective C
SQLite
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main( [] args) {
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v input

Command line arguments:

Standard Input: @ Interactive Console O Text
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import java.lang.Math:; “¥~

hihedren il

Import java.util.Scanner;

public class Main

{

public static void main(String args){ AW —IFRE
double teihen, takasa, menseki: F—h— hb\bd)
Scanner s = new Scanner(System.in);5'“—90).:;5 3}
System.out.printin("Please Enter teihen =");

tethen = s.nextDouble();
System.out.printin("Please Enter takasa =");
takasa = s.nextDouble();

menseki = teithen * takasa * 0.5; \ Eﬁﬁédbﬁiﬁdbiﬁ

System.out.printf("menseki = %8.3f¥n", menseki);

} EEZR 5




fmoeiEm (1)

Please Enter teihen
25

Please Enter takasa
5

mensekl = 6.250

. . .Program finished
Press ENTER to exit

with exit code 0
console.

10



JO20 5 AZET)E

System.out.println("Please Enter teihen =");

%

R |T.$i-ﬂm-| oy _r;.l.f '

1 Awt—=’ [ 'Please Enter teihen= ]| ZRK

1

System.out.printin("Please Enter takasa =");

teihen = s.nextDouble();| {Z&E/ NI LT —F HiHIAH

| AwE—= [ 'Please Enter takasa: | &R

takasa = s.nextDouble(); tgibd\ﬁ ﬁj__g&
| i aJu

menseki = teihen * takasa * 0.5; | E+E3

1

System.out.printf("menseki = %8.3f¥n", menseki);

StE3

Y7,

it
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@ teinen = s.nextDouble();

telthen

FENINB R T — 5 2R FrA

@ takasa = s.nextDouble();

takasa I

menseki = teihe

n * takasa * 0.5;

)

»y menseki

ig)ﬁblj\ﬁ,‘“ﬁr—GEm Ay

»| System.out.printf("menseki = %8.3f¥n", menseki)

3 DDEH

STERRZRR
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teihen, takasa, menseki;

AY:double ZEN/INER=EN
223844 teihen, takasa, menseki (Z#(d 3 D)
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teihen s.nextDouble();

nextDouble: iZEJ/NHREDANZITOAVY R
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B System.out.printf (C K DIHE

.out.printf("menseki

TR
= %8.3f\n", menseki);

> —4 DE

hihedren il

%8.3f: £z 8H1, /NIRLUT M CTRFEVNIRE =R~

Awvt— T —SOMAENTERARICE

mensekl = 6.. 250

B System.out.println (CKBIH]

.out.println("Please Enter teihen

H

xR

AV T—2FKIRICEEI D

Please Enter teihen =
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import java.lang.Math; M¥~

Import java.util. Scanner;
public class Main

{ S AW E—SEReE

public static void main(String[] args) { “ o g 1=
double a, b, theta, S; :F mN—Rn ba)

Scanner s = new Scanner(System.in): —5 DindHirdy
System.out.printin("Please Enter a =");

a = s.nextDouble();
System.out.printin("Please Enter b =");

b = s.nextDouble();
System.out.printin("Please Enter theta =");
theta = s.nextDouble():; =AFomiE
S=0.5*a*b*Math.sin(theta * 3.14159 / 180.0 );
System.out.printf("S = %8.3f¥n", S);

} ] MR




ESpr =S

Please Enter a

10

Please Enter b

©

Please Enter theta =
30

S = 15.000

...Program finished with exit code 0
Press ENTER to exit console.D
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Import java.lang.Math; {
Import java.util.Scanner; o
public class Main o
{
public static void main(String[] args) {
double x;
Scanner s = new Scanner(System.in);
System.out.printin("Please Enter x =");
X = s.nextDouble();
System.out.printf("exp(%8.3f) = %8.3f¥n", x, Math.exp(x));
System.out.printf("10g10(%8.3f) = %8.3f¥n", x, Math.log10(x));
System.out.printf("sqrt(%8.3f) = %8.3f¥n", x, Math.sqrt(x));
System.out.printf("sin(%8.3f) = %8.3f¥n", x, Math.sin(x));
System.out.printf(" cos(%8.3f) = %8.3f¥n", x, Math.cos(x));
System.out.printf("tan(%8.3f) = %8.3f¥n", x, Math.tan(x));
System.out.printf("abs(%8.3f) = %8.3f¥n", x, Math.abs(x));

) 22



ESpr =S

Please Enter x
0.5

exp ( 0.500)
1logl0 ( 0.500)
sqrt ( 0.500) =
sin ( 0.500)
cos ( 0.500)
tan ( 10100
abs ( s1010)

...Program finished with exit code 0
Press ENTER to exit cunsale.D




1 EETBEINDEAEDE

.out.printf("exp(%8.3f) = %8.3f\n", x, .exp(x));

XAy —> LETREBRORTR

exp ( 0.500) = 1.649
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s=(a+b+c)/2;

(a+b+C)/2 =EHEL, s (CHZHA

d = Math.sgrt( (x*x) +(y*y));

VX2 +y2 ZET8 L, d (T8N

x = Math.sgrt(a*(a-b)*(a-c));

ya(@-b)(a-c)Zzzt8 L, x [CH&iH

A=sqrt(s*(s-a)*(s-b)*(s-c));

Js(s—a)(s—b)(s—C) ZEFHEL, A (i N
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s=(a+b+c)/2

28



